180(A) UG-11I/Socio.-V(H)/21 d) Mention two Community Development
Programmes undertaken by the Govt. of India.
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The figures in the right-hand margin indicate marks. a)  What do you understand by rural ecology?
Candidates are required to give their answers in AN AT IO F @RIe
their own words as far as practicable. b) What is Green Revolution?
e [g< 52
Answer all the questions.
c)  What is rural-urban dichotomy?
GROUP-A
AN-*2g Ko &2
e
d) What are the bases of social stratification?
[Marks : 50]
. Aifers @ fariem fofe i 6
1. Answer any two questions: 1x2=2

@GO s 2 T i 3 e) What do you understand by SHG?

a)  Define rural family.
A AR @ 7we | f)  What is meant by rural indebtedness?
A AoleEs! @0 F @[le

SHG <&ce & (@Rt 2

b)  What is rural society?
g)  What is rural poverty?

a1 wifsw 2

23T IS FHICF 031 2
c¢) What is rural sociology?
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Answer any three questions of the following:

6x3=18

@I foalt 2d Ted e ¢

a)

b)

d)

180(A)

Discuss the significance of Green Revolution

in India.
TSI G RATEE Sl SIS 4 |

Examine the impact of industrialization on

agrarian society in India.

Slgead FhREE Toiw FEwes aeld
RIGIRIEEY

Discuss the land ownership structure in rural

society.
2ot SIS SHEFCGH o172 SNEB 54 |

Write a note on land reform with special

reference to West Bengal.

SAoIICoE RO TR B AT BAAd
G Bl &1L |

Discuss the salient features of social

stratification in rural society.
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Answer any two of the following: 10x2=20

@I 95 20ed TR wie 2

a)

b)

d)

180(A)

Critically discuss the impact of ‘green

revolution’ on agrarian development.

IR TR ol e [ e A
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Write a note on Panchayati Raj in West Bengal.
SAREIC SIS IR TR (6 Bl @74 |

Examine the significance of village study in
India with special reference to Rampura

village.
AT AT e Qs AT Slesty #firEna
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Write a note on Community Development

Programmes in India.
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5. Answer any two questions: 1x2=2
@I 95 20ed TR wie 2
a)  Who has developed the rural-urban continuum
theory?
‘Rural-urban continuum Theory -3 &3& (F?
b)  What do you mean by urban society?
F9F IS 100 6 (@2
¢) What do you mean by urban community?
F9R MR o0 fF (2
d)  What is mechanical solidarity?
g Ao e
6. Answer any five of the following: 2x5=10

@-(IeT1 #H6f6 2leia Ted wi 2

a)

b)

180(A)

What are the characteristics of industrial

society?
ey *izraa ey & e
What is urban evolution?

Joq e =2
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g)

Explain the theory of contrast.
‘Theory of contrast’ X7} T |
Explain the ‘Theory by Deduction’.
“Theory by Deduction’ FIfl 4 |
What is metropolis?

‘Metropolis’ ¢

What is the difference between urbanism and

urbanisation?
Urbanism 3% urbanisation-43 ¢gy “Ne<y ¢
What do you mean by pre-industrial society?

AT ITeITer <@Ce 6 (A2

Answer any three questions of the following:

6x3=18

@I foalt 2d Ted e ¢

a)

b)

180(A)

Discuss the main features of urban planning.
oI AT o @A SEThal 79 |
Explain the features of first urban wave.
BN oI S (AT A 41|

Write a note on urban evolution.

917 RS Totg @16 il @19 |
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d)

Write a note on Park’s ‘Image of the City’.

ARF-93 ‘Image of the City’-q TAT 435 Tl
@1

Following Reisman, discuss the characteristics

of city.

RETIR SPTRe 991037 ([IREeE SEs
34|

Answer any two of the following: 10x2=20

@I 95 20ed TR wie 2

a)

b)

d)

180(A)

Discuss the consequences of urbanization.
RIS e HCAD <FS |

Write a note on Human Ecology.

TR IRFOCET THF (6 HIl @11 |

How does Burges analyse the concept of

‘Concentric Zone Model’?

e eI ‘Concentric Zone Model’” €179
R a0 ¢

Discuss the emerging trends in urbanization

in India.
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